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2016 VHSL Regular Season - Round 19 - First Period, Fifteen Tossups
1. In this country, candidate Jerry Bance was removed from the ballot after hidden-camera footage caught him urinating in a coffee cup. Thomas Mulcair (mul-CARE) leads the Official Opposition in this country's Parliament, the New Democratic Party, which in September 2015 was polling evenly with the Liberals of Pierre Trudeau and the ruling Conservatives in advance of October elections. For 10 points, name this country where Stephen Harper is seeking a third ministry.
ANSWER: Canada 

2. QMOT analyzes these structures qualitatively, and builds on LCAO theory, which combines them linearly. When these structures are antibonding, they are marked with a star. They are described by the quantum numbers n, l, and m, and also divided into s, p, d and f types. Hybridization of these structures between carbon and hydrogen result in sp3 bonds. For 10 points, name these structures where electrons exist around atoms. 
ANSWER: atomic orbitals [or molecular orbitals; or electronic orbitals]

3. The Burgess Shale formation dates from this period. This period was followed by the Ordovician, Silurian, Devonian trifecta. The start of this period is defined to start with the appearance of the trilobites. This first period of the Paleozoic Era saw the first development of widespread multicellular organisms. For 10 points, name this period of geologic time that experienced a namesake "explosion" of life and followed a namesake supereon that lasted four billion years.
ANSWER: Cambrian Period

4. In a myth from this country, a storm god extracts a grass-cutting sword from the tail of a slain eight-headed serpent. This country is created when a similarly-named husband and wife dip a spear into the primordial waters. In this country's founding myth, Uzume's (oo-ZOO-mayz) frantic dancing lures the sister of Susanowo (soo-sah-NOH-woh) out of a cave, restoring light to the world. For 10 points, name this country in which the goddess Amaterasu (ah-ma-teh-RAH-soo) is the ancestor of emperors such as Hirohito.
ANSWER: Japan [or Nihon; or Nippon]

5. This country was the first to elect an openly lesbian head of government, and in 2013 its Pirate Party gained three seats in Parliament. The failure of Glitnir (GLIT-neer), Kaupthing (KOWP-thing), and Landisbanki (LON-dis-bon-kee) led to a dispute in which the Netherlands and Britain sued this country for deposit guarantees. This nation became independent from Denmark in 1918, and nationalized its failed banks in the aftermath of the Great Recession.  For 10 points, what Nordic country is ruled from Reykjavík (RAKE-ya-VIK)?
ANSWER: Iceland [Republic of Iceland; or Lydveldid Island]

6. In a play by this author, Celimene (sell-ih-MAIN) is courted by the Oronte (oh-RON-tay) and the critical title character Alceste (al-SEST). This playwright died after collapsing on stage while playing Argan, the title character of his play The Imaginary Invalid. In another of his plays, Elmire's (el-MEERz) husband Orgon (or-GOAN) takes in the title religious hypocrite. For 10 points, name this French comic playwright who wrote The Misanthrope and Tartuffe.
ANSWER: Moliere [or Jean-Baptiste Poquelin]

7. This poem's author described deciding upon its length in the essay "The Philosophy of Composition." This poem recalls a "rare and radiant maiden whom the angels name Lenore." This poem begins with its speaker remembering "a midnight dreary, while I pondered, weak and weary." For 10 points, name this poem about a bird who says "Nevermore" written by Edgar Allan Poe.
ANSWER: "The Raven" 

8. In a novel by this author, the protagonist visits a psychiatrist who once experimented on Jews at Buchenwald named Dr. Hilarius. In that novel by this author, the tycoon Pierce Inverarity's will is executed by Oedipa Maas. He also wrote about the relationship between V-2 rockets and Lieutenant Tyrone Slothrop. For 10 points, name this American postmodernist who wrote The Crying of Lot 49 and Gravity's Rainbow.
ANSWER: Thomas Pynchon 

9. This leader allowed farmers to pay taxes in agricultural product after he began the New Economic Policy. This man argued that the formation of a revolutionary "vanguard party" was needed in his pamphlet What Is to Be Done? This leader founded the Cheka (chih-KAH), and his Bolshevik followers overthrew the provisional government of Alexander Kerensky. For 10 points, name this first leader of the Soviet Union.
ANSWER: Vladimir Lenin [Vladimir Ilyich Lenin; or Vladimir Ilyich Ulyanov]

10. This project was a stripped-down version of an alternative codenamed "Object D," and the Tral telemetry system was used to track it. Most people who tried to view this object actually saw the R-7 rocket that launched it, and Eisenhower tried to downplay it as "one small ball in the air." This metal sphere with four antennae was launched in October 1957, starting the space race. For 10 points, name this first artificial satellite.
ANSWER: Sputnik 1

11. Units pronounced "mike" and "puff" are used to describe small examples of these devices, electrolytic ones of which often use tantalum coated in oxide. The edges of these devices have fringe fields when their size is not much larger than their internal separation. The charge on these devices is equal to the voltage times a parameter measured in Farads, which can be increased by using a dielectric. For 10 points, name these devices that store energy in an electric field.
ANSWER: capacitor
12. An area of land in this state known as the Twelve Mile Square was ceded by Native Americans in the Treaty of Greenville. This state's Seven Ranges area was the first tract included in the Public Land Survey System.  Its northeastern portion was claimed by Connecticut as the Western Reserve, and this state almost went to war with its northern neighbor over the Toledo Strip. For 10 points, what Midwestern state south of Lake Erie and Michigan includes the cities of Cincinnati and Cleveland?
ANSWER: Ohio
13. In August 2015, two Russian scientists showed that pressurized hydrogen sulfide exhibits this property. The interaction between electrons and phonons is responsible for this property, according to the BCS theory. Heike Kamerlingh Onnes discovered this property by running current through a wire at 4.2 Kelvin. Materials with this property produce a magnetic field via the Meissner effect. For 10 points, name this property of materials with zero electrical resistance.
ANSWER: superconductivity [or word forms] 

14. This group's second-in-command is the eyepatch-sporting Emilio Largo. The head of this criminal group is a bald man usually seen with a white cat and who is known as "Number One." This group is traditionally led by Ernst Stavro Blofeld, and it menaced the world in the movies Thunderball and From Russia With Love. For 10 points, name this criminal organization that is the namesake of the November 2015 James Bond film.
ANSWER: SPECTRE [or Special Executive for Counter-intelligence, Terrorism, Revenge and Extortion]

15. Stanley Kubrick's film Barry Lyndon incorporates the "Sarabande (sah-rah-BAHN-duh)" from this composer's Keyboard Suite in D minor, HWV 437. This composer wrote a 3/2 (three two) D major movement subtitled "Alla Hornpipe." To celebrate the end of the War of the Austrian Succession, he wrote his Music for the Royal Fireworks. This composer wrote a collection for a concert held by George I on the River Thames (TEMZ). For 10 points, name this composer of Water Music, whose oratorio Messiah contains the "Hallelujah Chorus."
ANSWER: George Frideric Handel
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2016 VHSL Regular Season - Round 19 - Directed Period
1A. The former slave trading post of Gorée (gore-EY) Island lies off the shores of what country's capital of Dakar (dah-CAR)?
ANSWER: Senegal [Republic of Senegal; or Republique du Senegal] 

1B. What Greek hero follows a wandering cow for miles before finally founding Thebes at the site the cow lays down?
ANSWER: Cadmus 

2A. What Southern writer included "A Worn Path" and "Why I Live at the P.O." in her collection A Curtain of Green?
ANSWER: Eudora Welty  

2B. Running a while or for loop involves the repetition of a block of statements, which is known by what term in computer science?
ANSWER: iteration 

3A. Performing what action causes a particle's wave function to collapse?
ANSWER: observation [or measurement; accept word forms]
3B. What national epic of France is about a paladin of Charlemagne who dies at Roncevaux (RON-say-voo) Pass?
ANSWER: The Song of Roland [or La Chanson de Roland]  

4A. What branch of metaphysics concerns the nature of existence and attempts to answer questions on the categorization of objects?
ANSWER: ontology [or ontological]  

4B. What defense lawyer created by Capcom is the frequent opponent of Miles Edgeworth and is known for his loud "Objections!"?
ANSWER: Phoenix Wright [or Phoenix] 

5A. Name this relationship that is represented by three parallel bars and holds for two numbers whose difference is divisible by a third.
ANSWER: congruence [or they are congruent modulo m] 

5B. What Canadian office represents the British monarchy and is currently held by David Johnston?
ANSWER: Governor-General of Canada 

6A. This is a 20-second calculation question. Out of 30 students in a class, 10 have only brothers, 4 have only sisters, and 8 have at least one brother and at least one sister. What is the marginal probability of having a brother?
ANSWER: 3/5 [or 18/30] 

6B. This is a 20-second calculation question. What is the x-intercept of the equation given in standard form as 5 x plus 7 y equals 35?
ANSWER: (7, 0) [or x equals 7; prompt on 7] 

7A. The Spanish verb "ducharse (doo-CHAHR-say)" describes what English-language action, called "se doucher (say doo-SHAY)" in French?
ANSWER: to take a shower [or word forms; do not accept "to bathe" or "to wash"] 

7B. What company is building the Gigafactory I near Reno, Nevada to manufacture lithium-ion batteries for its electric cars?
ANSWER: Tesla Motors 

8A. Leni Riefenstahl (REE-fensh-tahl) directed the propaganda film Triumph of the Will on behalf of what government?
ANSWER: Nazi Germany [or Third Reich; or Drittes Reich; or Deutsches Reich; or Grossdeutsches Reich; prompt on Germany] 

8B. What English poet wrote the pastoral elegy "Lycidas" in response to the drowning of his schoolmate Edward King?
ANSWER: John Milton  

9A. This is a 30-second calculation question. If the arccosine of quantity one-half x plus 3 end quantity equals 2 pi over 3, what is x?
ANSWER: -7 

9B. This is a 30-second calculation question. A diamond can be cut into four congruent 30-60-90 (thirty sixty ninety) right triangles. If the length of each side of the diamond is 6 inches, what is the area of the diamond? Express your answer in simplest radical form.
ANSWER: 18 times the square root of 3 [or 18 times radical 3] 

10A. What 1794 treaty negotiated the withdrawal of the British from the Northwest Territory but saw major backlash from the Democratic-Republicans? 
ANSWER: Jay's Treaty 
10B. Operation Vittles was part of which effort to supply a city split into four zones following World War II?
ANSWER: Berlin Airlift 
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2016 VHSL Regular Season - Round 19 - Third Period, Fifteen Tossups
1. This state has the highest population of Marshall Islanders in the continental United States, mostly in Springdale. It contains the country's smallest national park, whose attractions include Bathhouse Row. This state leads the U.S. in rice production. Companies based in this state include Tyson, Dillard's, and Wal-Mart. Hot Springs National Park is in this southern state. For 10 points, name this home of the Clinton Presidential Library in Little Rock. 
ANSWER: Arkansas
2. A "total" version of this phenomenon occurs in metamaterials. One law describing this phenomenon is derived using Fermat's principle of least time. This phenomenon is described by an equation that sets n sub one times sine sub one equals n sub two times sine sub two, which is called Snell's Law. For 10 points, name this effect in which light changes direction as it passes from one medium to another.
ANSWER: refraction
3. This poet wrote about his marriage to Elizabeth Boyle in his "Epithalamion," which concludes his poetic sequence about their courtship entitled Amoretti. He also wrote about Britomart, the knight of Chastity, in the third book of an allegorical epic poem whose first book follows the Redcrosse Knight before he becomes Saint George. For 10 points, name this Elizabethan poet of The Faerie Queene.
ANSWER: Edmund Spenser 

4. The presence of this organ in eutherians (yu-THEORY-an) distinguishes them from metatherians (meta-theory-ans). A hemolytic disease can occur when anti-Rh IgG passes through this organ. This organ secretes human chorionic (cory-on-ic) gonadotropin (goe-NAH-doe-trope-in) following implantation of the embryo, which is connected to it by the umbilical cord. For 10 points, name this organ that nourishes the fetus during pregnancy and is sometimes called afterbirth.
ANSWER: placenta [or syncytiotrophoblast; or afterbirth until it is read]

5. A group of advisors called "Milner's Kindergarten" was established after this war. Emily Hobhouse and the Fawcett Commission exposed the treatment of this war's losers. This war began with an attempt to trigger an Uitlander (OUT-lan-der) uprising called the Jameson Raid. Paul Kruger negotiated the peace that ended this war, the Treaty of Vereeniging (veh-reh-EY-nah-HONG). For 10 points, name this war fought between Britain and Dutch settlers in South Africa.
ANSWER: Second Boer War [do not accept or prompt on "First Boer War"]

6. In order to stop war in Europe, this man used the Oskar II for his Peace Ship expedition. His weekly newspaper published anti-Semitic propaganda and was called the Dearborn Independent. This man supposedly said his best-known product was available in any color as long as it's black. That product by this man was called the "Tin Lizzy" and was produced using the assembly line method. For 10 points, name this Michigan industrialist who introduced the Model T automobile. 
ANSWER: Henry Ford
7. Ajax commits suicide when he is not given this hero's armor. Patroclus (pah-TRAHK-lis) is killed in battle while disguised as this warrior. To avenge him, this hero then chases an enemy prince around the walls of Troy three times before killing him and dragging his corpse around in a chariot. This slayer of Hector and son of Thetis (THEE-tis) is submerged in the River Styx to give him near-invulnerability. For 10 points, name this Greek warrior whose sole weakness is his heel.
ANSWER: Achilles
8. This novel's original sad ending was changed in response to comments by Edward Bulwer-Lytton. In this novel, the pseudonyms "Mr. Campbell" and "Provis" are used by the protagonist's benefactor, a criminal returned from Australia named Abel Magwitch. Miss Havisham takes in this novel's protagonist, the orphan Pip. For 10 points, name this novel by Charles Dickens.
ANSWER: Great Expectations 

9. A book about this concept introduced the "difference principle," which was attacked by Robert Nozick's entitlement theory. Thrasymachus (THRAH-see-MAH-koos) argues that this concept is "that which is to the advantage of the stronger" in the Republic, which opens with several attempts to define it. The "veil of ignorance" was introduced in a book that equated this concept with "fairness." For 10 points, John Rawls wrote "A Theory of" what concept, symbolized by a blind lady holding scales?
ANSWER: justice
10. During this year, Roger Babson made several well-publicized predictions of disaster. Though it would pass the following year, the looming Smoot-Hawley Tariff prompted intense debate in Congress during this year. On one day in this year, a then-record sixteen million shares were traded by panicked investors. October 24 of this year was Black Tuesday on Wall Street. For 10 points, name this year in which the U.S. stock market crashed, beginning the Great Depression.
ANSWER: 1929
11. This student of William Graham Sumner helped found the New School for Social Research. This sociologist argued that businessmen were like barbarians in how they subjugated women, practiced sport, and engaged in pecuniary emulation practices. In 1899, he wrote a study of how people display luxury goods in the practice of conspicuous consumption. For 10 points, name this author of The Theory of the Leisure Class.
ANSWER: Thorstein Veblen [Thorstein Bunde Veblen]

12. In a film role, this actor says that if you see him in person, please leave him be. That role was as himself giving an advertisement for a new Grand Canyon in The Simpsons Movie. He played a FedEx engineer who begins talking to a volleyball he names "Wilson" after crash-landing on a Pacific island. This Oscar-winning actor played Walt Disney in the film Saving Mr. Banks.  For 10 points, name this actor who played Forrest Gump.
ANSWER: Tom Hanks [Thomas Jeffrey Hanks]

13. This city's then-tallest building was featured in an eight-hour and five-minute long movie called Empire. This city was the site of The Factory, and silkscreens produced here included the Marilyn Diptych and one featuring four images of a mourning Jackie Kennedy. Another silkscreen, featuring thirty-two copies of various Campbell's soup cans, is located in this city's Museum of Modern Art. For 10 points, Andy Warhol operated out of what city's Manhattan borough?
ANSWER: New York City [or NYC]

14. A follow-up to this painting depicts a single fish laying in a body of water among a series of rectangular prisms and is known as this painting's "Disintegration." A shadow in this painting is created by Mount Pani (PAH-nee), and yellow cliffs of Catalonia appear in its background. A strange white figure appears in the middle of this painting, while a swarm of ants and a wooden table dominate its left. For 10 points, name this painting famous for its melting clocks, by Salvador Dalí.  
ANSWER: The Persistence of Memory [or La Persistencia de la Memoria]

15. The Boyer-Moore algorithm is used to search for matches in this type of variable. In Python 3.0, this type of variable is automatically encoded as UTF-8. The percent-s format specifier stands for this type of variable in printf functions. In Java using the plus operator can concatenate this type of variable. In C, this type of variable is implemented as an array of characters. For 10 points, name this type of variable that stores text as a sequence of letters.
ANSWER: strings [prompt on text or lists]
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2016 VHSL Regular Season - Round 19 - Tiebreaker Questions
1. These books were recited by a "hotri" (HOH-tree) chanter and by "adhvaryu" (ahd-VAR-yoo) priests. They include the Yajur (YAH-jer) volume, which discusses sacrifices, and many poems recited during the use of soma. These books were composed in the mid-second millennium BCE and are addressed to namesake gods such as Surya, Agni, and Indra. For 10 points, name these collections of hymns to pre-classical Hindu gods, which include the Rig.
ANSWER: Vedas
2. These people were the subject of a 1988 act sponsored by Norman Mineta, the Civil Liberties Act. Ansel Adams and Dorothea Lange (LANG) took many photographs of these people while they resided at Manzanar. President Roosevelt's Executive Order 9066 was issued in 1942 against these people, which included Fred Korematsu. For 10 points, name these people who were forcibly relocated and placed in camps by the American government during World War II.
ANSWER: Japanese-Americans [or nisei; or sansei; or issei]

3. In a one-act play by this author, a man relates how he gave hamburger meat laced with rat poison to a dog before impaling himself on his own knife by a park bench. In another play by this author, "Get the Guests" and "Humiliate the Host" are among the games played by George and Martha with their visitors. For 10 points, name this contemporary American playwright of The Zoo Story and Who's Afraid of Virginia Woolf?
ANSWER: Edward Albee 

4. Distance on this mathematician's namesake space is given in two dimensions as the square root of the sum of the squared differences of the x and y coordinates. In the hyperbolic and elliptic systems created by modifying a postulate of this mathematician, a triangle's angles don't sum to 180. This mathematician wrote a treatise in thirteen books that axiomatized geometry and included the parallel postulate. For 10 points, name this Greek mathematician who wrote the Elements.
ANSWER: Euclid of Alexandria

5. A river that flows out of a lake named for this person is dammed at Owen Falls. A feature named for this ruler includes the "Devil's Pool" and has a native name meaning "the smoke that thunders." John Hanning Speke (SPEAK) discovered and named a lake after this person. A waterfall on the Zambezi (zam-BEE-zee) River is named for this ruler. For 10 points, identify this queen who names a lake shared by Tanzania (tan-zuh-NEE-uh), Kenya, and Uganda that provides the source of the Nile River.
ANSWER: Victoria 

This is a 30-second calculation question. If g of x equals 4 x squared minus 3 x and f of y equals 3 y plus 8, what is f of g of x?
ANSWER: 36 x squared plus 187 x plus 232 

What name is given to the pig-like odd-toed ungulates native to Latin America and Southeast Asia that have a prehensile snout?
ANSWER: tapirs
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